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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST – II / HALF YEARLY EXAMINATION 

SESSION: 2022 – 2023 

Class:  V       Maximum Marks: 80 

Subject: BENGALI     Time: 2 Hours 30 Mins 

 

1. অনুচ্ছেদটট বাচ্ছরাবাচ্ছফ ঩চ্ছ া এফং টনম্নটরটিত প্রশ্নগুটরয উত্তয দাও - 

঳া঴঳ী, নাটিক মুফক ঴চ্ছরন যাজা যাভচ্ছভা঴ন যায়। হুগটর জজরায যাধানগয 

গ্রাচ্ছভ ১৭৭২ ঳াচ্ছর তাাঁয জন্ম ঴য়। ফাফা যাভকান্ত যায়, ভা ঴চ্ছরন তাটযণী জদফী। 

যাভচ্ছভা঴ন টিচ্ছরন অতযন্ত জভধাফী। তাাঁয জদ঴ জমভন দীর্ঘ, জতভন টির ফটরষ্ঠ। 

টতটন আযটফ, পাট঳ঘ, ঳ংসৃ্কত, রযাটটন প্রবৃটত ফহু বালা জ঱চ্ছিন। টতটন ইংচ্ছযটজ 

বালাচ্ছতও দক্ষতা অজঘন কচ্ছযন। তাাঁচ্ছক ‚ফাংরা গচ্ছদযয জনক‛ ফরা ঴য়। 

জিচ্ছরচ্ছফরা জথচ্ছকই টতটন টিচ্ছরন ভূটতঘ ঩ূজায টফচ্ছযাধী এফং জগাাঁ া ট঴নু্দ ধচ্ছভঘয 

টফচ্ছযাধী। ভূটতঘ ঩ূজায টফরুচ্ছে অচ্ছনক কথা টতটন জরচ্ছিন। জিচ্ছরয ভটতগটত জদচ্ছি 

ফাফা তাাঁচ্ছক র্য জথচ্ছক তাট চ্ছয় জদন। ফাট  জথচ্ছক টফতাট ত ঴চ্ছয় টতটন 

‚ব্রাহ্ম঳ভাজ‛ নাচ্ছভ একটট ঳াভাটজক প্রটতষ্ঠান গচ্ছ  জতাচ্ছরন। তাাঁযই প্রচ্ছেষ্টায় 

রডঘ জফটিচ্ছেয ঳঴চ্ছমাটগতায় ‚঳তীদা঴ প্রথা‛ আইন কচ্ছয যদ কযা ঴য়। 

ক) যাভচ্ছভা঴ন যাচ্ছয়য জন্মস্থান জকাথায় ? 

ি) ‚ফাংরা গচ্ছদযয জনক‛ কাচ্ছক ফরা ঴য় ? 

গ) যাভচ্ছভা঴ন জকান্ ঳াভাটজক প্রটতষ্ঠান গচ্ছ  জতাচ্ছরন ? 

র্) যাভচ্ছভা঴নচ্ছক র্য জথচ্ছক জকন তা াচ্ছনা ঴য় ? 

ঙ) যাভচ্ছভা঴চ্ছনয জদ঴ জকভন টির ? 

ে) যাভচ্ছভা঴চ্ছনয ফাফায নাভ কী ? 

ি) কায ঳঴চ্ছমাটগতায় ‚঳তীদা঴ প্রথা‛ আইন কচ্ছয যদ কযা ঴য় ? 

জ) টতটন কী কী বালা জ঱চ্ছিন ?  

ঝ) অথঘ জরচ্ছিা - জনক   

ঞ) টফ঩যীত ঱ব্দ জরচ্ছিা – ঳া঴঳ী  

(1×10=10) 

2. টনচ্ছেয জমচ্ছকাচ্ছনা একটট টফলয় অফরম্বন কচ্ছয (120 ঱চ্ছব্দয ভচ্ছধয) একটট 

অনুচ্ছেদ যেনা কচ্ছযা । 

ক) জিরাধুরায প্রচ্ছয়াজনীয়তা  

ি) জচ্ছরয অ঩টয঴ামঘতা  

গ) দদনটন্দন জীফচ্ছন টফজ্ঞান 

 

(5×1=5) 



 

2 
 

3. জতাভাচ্ছদয টফদযারচ্ছয় ফৃক্ষচ্ছযা঩ণ উৎ঳ফ জকভন ঴চ্ছরা, তা জাটনচ্ছয় ফনু্ধচ্ছক একটট 

঩ত্র জরচ্ছিা।                       অথফা 

঳ভুদ্র জদিায আনচ্ছন্দয উ঩রটি জাটনচ্ছয় ফনু্ধচ্ছক একটট ঩ত্র জরচ্ছিা। 

(5×1=5) 

4. ফন্ধনীয অন্তগঘত ঳টঠক উত্তযটট জফচ্ছি জরচ্ছিা -  

ক) ‚ঙ‛ -  ফণঘটট উচ্চাযচ্ছণ ( নাচ্ছকয / কাচ্ছনয ) ঳া঴াময রাচ্ছগ। 

ি) ে, ি, জ - এই ফণঘগুটরয স্প঱ঘস্থান অনুমায়ী নাভ ঴র - ( কন্ঠ্য / তারফয ) 

ফণঘ। 

গ) ফাংরায় পরা আচ্ছি - ( ঩াাঁেটট / ঳াতটট )। 

র্) প্রটতটট ফচ্ছগঘয প্রথভ ও তৃতীয় ফণঘগুটর ঴র - ( অল্পপ্রাণ / ভ঴াপ্রাণ ) ফণঘ। 

ঙ) গঠনগত টদক জথচ্ছক স্বযধ্বটনগুটর ( দুই / টতন ) বাচ্ছগ টফবক্ত। 

(1×5=5) 

5. ফাভটদক ও ডানটদক জভরাও -  

 ফাভটদক  ডানটদক 

ক)  অের ১) টনন্দা 

ি)  টফশ্বা঳ ২) ফক্তা 

গ)  ম঱ ৩) ঳ের 

র্)  জরাতা ৪) অ঳তকঘ 

ঙ)  ঳তকঘ ৫) অটফশ্বা঳ 
 

(1×5=5) 

6. ঳টঠক ঳চ্ছভাচ্চাটযত টবন্নাথঘক ঱ব্দ ফট঳চ্ছয় ঱ূনযস্থান ঩ূযণ কচ্ছযা -   

ক) ঩াটিটট _______ দতটয কচ্ছযচ্ছি। ( নী  / নীয )  

ি) ________ টত্র঱ূর ধচ্ছয থাচ্ছকন। ( টগটয঱ / টগযী঱ )  

গ) ভট঴রাটট জ঳ানায ________ ঩চ্ছযচ্ছিন। ( আফযণ / আবযণ ) 

র্) যাভেচ্ছেয বাইচ্ছয়য নাভ টির _______ । ( রক্ষণ / রক্ষ্মণ ) 

ঙ) শ্ম঱াচ্ছন _________ জ঩া াচ্ছনা ঴য়। ( ঱ফ / ঳ফ ) 

(1×5=5) 

7. জভাটা ঴যচ্ছপয ঩দগুটর জকানটট জকান্ ফেন জরচ্ছিা -  

ক) জদচ্ছ঱ জদচ্ছ঱ ভ঴াভাটয িট চ্ছয় ঩ র। 

ি) আকাচ্ছ঱ জগারাকায োাঁদ উচ্ছঠচ্ছি। 

গ) জিচ্ছরযা ভাচ্ছঠ জিরা কযচ্ছি।   

র্) আ঩টন জকাথায় মাচ্ছফন? 

ঙ) জচ্ছরয অবাচ্ছফ প্রাণীকুর ভাযা জমচ্ছত ঩াচ্ছয।   

(1×5=5) 

8. অথঘ জরচ্ছিা -           ক) ভ ক     ি) ঳টরর   গ) গগন   (1×3=3) 

9. টফ঩যীত ঱ব্দ জরচ্ছিা -   ক) গুরুতয   ি) আ঩ন   গ) কাঙার  

 

(1×3=3) 
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10. ঱ূনযস্থান ঩ূযণ কচ্ছযা -  

ক) এইরূচ্ছ঩ তাাঁ঴াচ্ছদয ________ ঳ভাপ্ত ঴ইর। 

ি) ফস্ত্রগুটরয জে঴াযা জদটিয়াই ________ ট঱঴টযয়া উটঠর।  

গ) আ঩ন ঴াচ্ছত জ঴রায় গট  / ঩াতায় গাাঁথা __________ । 

র্) ঳াধুয _________ শুধু ঩যট঴ত - তচ্ছয। 

(1×4=4) 

11. একটট ফাচ্ছকয উত্তয দাও -  

ক) ঩ুকুচ্ছযয ধাচ্ছয কয়জন িানা কাটচ্ছত শুরু কচ্ছযটির ? 

ি) ফৃন্দাফচ্ছনয গ্রাচ্ছভয নাভ কী টির ? 

গ) ট঱শুযা কী টনচ্ছয় জিরা কচ্ছয ? 

র্) জরধয কী ? 

ঙ) নদীয দফট঱ষ্টয কী ? 

(1×5=5) 

12. কচ্ছয়কটট ফাচ্ছকয উত্তয দাও -  

ক) ‘আটভ থাকচ্ছত জতাযা?’ – জক, জকান্ টফলচ্ছয় তুরনা কযচ্ছত টগচ্ছয় একথা 

ফচ্ছরটিচ্ছরন?  

ি) ঳ভুচ্ছদ্রয জচ্ছরয দফট঱ষ্টয কী ?  

গ) ‘঱঳য জন্মাইয়া নাট঴ িায় জরধচ্ছয’ – ঩ংটক্তটটয অথঘ  টনচ্ছজয বালায় জরজিা। 

(2×3=6) 

13. ঳ংটক্ষপ্ত উত্তয দাও -  

ক) ঱ূচ্ছর মাচ্ছফ শুচ্ছন দুই-঩টথক টনচ্ছজচ্ছদয ভচ্ছধয জঠরাচ্ছঠটর শুরু কচ্ছয জকন ? 

ি) কচ্ছরযা জযাগীয ফযফহৃত কা঩  ঩ানীয়জচ্ছরয ঩ুকুচ্ছয জধায়া উটেত নয় জকন ? 

গ) ‚঩চ্ছযা঩কায‛ কটফতা অনুমায়ী গরু, কাঠ ও জ঳ানা আভাচ্ছদয টকবাচ্ছফ 

উ঩কায কচ্ছয ?   

(3×3=9) 

14. একটট ফাচ্ছকয উত্তয দাও -  

ক) ফুেচ্ছদফ জকাথায় ধচ্ছভঘয ভভঘফাণী জ঱ানাচ্ছতন ? 

ি) ব্রাহ্মচ্ছণয ফস্ত্র জক জকচ্ছটটির ? 

গ) ভধুকয জকাথায় ফা঳ কযচ্ছতা ? 

র্) েটক েটকীয প্রটতচ্ছফ঱ী জক টির ? 

ঙ) ফুচ্ছ া ঴াটত জকাথায় টঝচ্ছভাটের ? 

(1×5=5) 

15. ‚কান্না শুচ্ছন তাচ্ছদয প্রটতচ্ছফ঱ী কাঠচ্ছঠাকযা তায ফা঳া জথচ্ছক উচ্ছ  এর।‛ -- 

কাযা, জকন কাাঁদটির ? 

(2×1=2) 

16. ‚আভযা জগচ্ছতয ঳কর বয় জয় কচ্ছযটি।‛ -- একথা জক, কাচ্ছক ফচ্ছরটির ? 

টনবঘচ্ছয় ফাাঁেচ্ছত জগচ্ছর কী কযা উটেত ? 

(3×1=3) 

 ________________  
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/HALF YEARLY EXAMINATION 
SESSION:2022-2023 

   Class: V                                                                                             Maximum Marks: 80 

  Subject: English                                                                            Time: 2Hours 30Minutes  
 

1. 

SECTION-A (READING SKILL: 10 MARKS) 

A.  Read the passage carefully and answer the following questions: 

It was a very pleasant day. A cool breeze was blowing. Rahul and Rishika were quite 

excited. Their mother was taking them to an Amusement Park. She had already kept a five- 

hundred rupee note to pay for the joy-rides. But when she opened her purse to take out 

something, the note just flew away. Both the children ran after it but they could not find it. 

“Sorry dear,” said their mother. “We have to cancel the programme. I don't have more 

money today.” “It is all right, Ma,” said the children though they were disappointed. “Since 

we are not going out, let us clean and decorate the house,” Rishika suggested. “I'll bring 

some flowers and put them in the flower-vase,” said Rahul. As he went out to pick some 

roses, there lay the five-hundred rupee note stuck among the roses. He shouted with joy to 

see the note.  

 

 

 

 

 

 

 

 

 

 a) ‘The two were excited for going to an Amusement Park.’ – Who were the ‘two’ referred 

here?                                                       

i) Rahul and Rishika,                                     ii) Rohan and Riti,      

iii) Roshan and Riki,                                     iv) Raj and Ritisha 

(1) 

 

 

 b) She had already kept a _________________ to pay for the joy-rides.                                    

i) Two-hundred rupee note,                           ii) One-hundred rupee note,   

iii) Five-hundred rupee note,                         iv) None of these   

(1) 

 c) Find out the word from the passage which means - gentle wind                                                                (1) 

 d) What happened to the money kept for the joy-rides?          (2)  

 B. Read the passage carefully and answer the questions given below: 

Chameleons can make their skin colour change. The colour changes to help the chameleon 

avoid its enemies. It is a form of camouflage, a disguise that allows it to blend with its 

surroundings. The change is actually determined by environmental factors, such as light 

and temperature. Bright sunlight causes the skin to darken. On cool nights, the colour fades 

to a creamy colour. The colour also changes when chameleons are excited, angry or afraid. 

The colour change is rapid and increases when the chameleon is handled, injured, or 

approached by another chameleon. There are many types of chameleons. Almost half of 

them are found on the African island of Madagascar. The others mostly found in the Sahara 

Desert, with a few in Western Asia and Southern Europe. Chameleons live in trees, where 

they usually eat insects. Very large chameleons may even use their sticky tongues to catch 

birds. 

 

 a) Chameleons change colour when they are -  

i) excited, angry or afraid  

ii) excited, angry or hungry 

iii) angry, excited or happy 

iv) afraid, angry or hungry 

(1) 

 b) State whether the given statement is TRUE or FALSE - 

‘The colour changing ability of a chameleon is a form of camouflage which is a disease 

which affects chameleons.’  

(1) 
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 c) ‘Fast development of industries causes pollution.’ - Find out a word from the passage 

that can replace the underlined word. 
(1) 

 d) Where are the chameleons found?   (2) 

 SECTION-B (WRITING SKILL:20 MARKS)  

2. Using hand sanitizer has become a part of our hygiene habit for the last two years. 

Design an advertisement on a hand sanitizer. 

OR 

Write a bio sketch of Swami Vivekananda from the given clues: 

Birth: 12 January 1863, Kolkata 

Childhood name: Narendranath Dutta 

Parents: Vishwanath Dutta and Bhuvaneshwari Devi. 

Lifestyle:  Used to practice meditation, associated with Brahmo Movement, follower of Sri 

Ramkrishna, often visited the kali temple at Dakshineshwar, Founder of Ramkrishna 

Mission and Ramkrishna Math.   

Profession: Spiritual Guide, Philosopher. 

Death: 4 July 1902  

(4) 

  

3.  Your school is celebrating a ‘Book Week.’ As Mayank / Payel Chauhan of Mt. View 

School, Nainital frame a speech to be delivered in the school assembly on the need to 

develop the reading habit among the students and the tips on how to take care of 

books.  

(8) 

4. On your birthday you have received a beautiful smart watch as a gift from your uncle 

who lives in Hyderabad. You felt very happy. So, write a letter to your uncle 

expressing your feelings and also thank him for the gift.  

(8) 

 SECTION-C (GRAMMAR:20MARKS)  

5. Rewrite the following sentences by putting apostrophe in correct places:  

a) I will go there for sure. 

b) There is a single room vacant in the ladies hostel. 

(1×2=2) 

 

6.  Choose the appropriate determiners from the brackets to fill in the blanks:  

a) She doesn’t have ___________friends. (much/many) 

b) We haven’t received ____________such information. (any/many) 

c)  ___________valuables are missing from my house. (Any/Some) 

(1×3=3) 

 

7.  Fill up the blanks with the abstract noun form of the words given in the brackets:                                                

a) He is a man of ________ (wise) 

b) _______ is all powerful. (know) 

c) Always speak the ______ (true) 

(1×3=3) 

 

8. Insert the correct degree of comparison in the blank spaces:  

a) I like to eat mangoes because mangoes are_____(tasty) than other fruits. 

b) My friend was happy because he had got the ______ (high) mark in the class. 

c) In cities, houses are ______ (expensive) than flats. 

(1×3=3) 

  

9. Identify the verbs and state whether they are Transitive or Intransitive:                         

a) She advised me to consult a doctor. 

b) Metals expand on heating. 

c) You must speak loudly. 

(1×3=3) 
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10. Identify the adverbs and state their kinds:  

a) Please wait patiently. 

b) We will leave today. 

c) I sat beside my mother.  

(1×3=3) 

  

11. Fill in the blanks with the Present Perfect Tense of the verbs given in the brackets:  

a) I _________ my lunch (take) 

b) Ritu ___________ a violin (buy) 

c) I _____________ all the plays of Shakespeare. (read) 

(1×3=3) 

  

 SECTION-D (LITERATURE: 30 MARKS)  

12. a) Choose the correct answers from the given options:                       

I) Janaki had to swim across the __________in the swimming competition. 

i) Indian Ocean.                                            ii) Pacific Ocean     

iii) English Channel                                      iv) Strait of Gibraltar  

(1×3=3) 

  

 II) According to the poem ‘Just Be Up and Doing’ we can succeed if we - 

i) try hard continuously                                ii) wait for the right time    

iii) follow others                                           iv) continue dreaming.  

 III) Who were known as sworn enemies in the prose piece ‘The Tale of a Tail’? 

i) Mani and Rajam                                       ii) Shankar and Pea   

iii) Somu and Mani                                      iv) None of these 

 b) Write TRUE or FALSE against the following statements:                        

I) Janaki was not allowed to make a solo attempt in the Channel. 

II) The poet of the poem ‘Adventures with Books’ does not recommend reading of books. 

III) The poet of the poem ‘Just Be Up and Doing’ agrees that one faces a lot of trouble in  

       life.  

(1×3=3) 

  

 c) Fill in the blanks with appropriate words:  

I) The poet of the poem ‘Just Be Up and Doing’ states that no one will ever ______ if he  

    tries hard. 

II) Benny had _______ books of his own. 

III) The dental instruments that Aunt Polly asked for were __________ and a chunk of fire. 

(1×3=3) 

  

 d) Give one word answer to the following questions:                                   

I) Name the boy who ran down to call Aunt Polly. 

II) How old was Janaki when she was attacked by polio?  

III) Name the place where the battle was going on between the Kauravas and Pandavas.  

(1×3=3) 

  

13.  Answer the following questions in brief:   

a) What did Tom ask Sid to give to the new girl who came to the town? 

b) Why did the poet compare reading books with an adventure? 

c) What moral message did Janaki convey to all after her success? 

d) How did Swaminathan feel when he saw the word ‘Tail’ written on the blackboard? 

e) ‘Pea burst into tears’ - Why did Pea burst into tears? 

f) ‘The children were surprised when Benny returned them their things’ - Why?   

g) What horrid thing had Benny done with one of the books? 

(2×7=14) 

  

14.  Answer the question given below:  

‘Real courage is fighting against the wrong limits and respecting the correct ones.’ - 

Illustrate this with reference to the story ‘Limits of the Mind’.                                           

(4)  

  

********** 



1 

 

D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST 2/HALF YEARLY EXAMINATION 

SESSION : 2022 – 2023 

Class : V                                                                     Maximum Marks: 80 

Subject:  HINDI                                                       Time: 2 Hours 30 Minutes 

 

 

 

1. 

 

खडं – क 

	न�न�ल�खत ग�यांश को पढ़कर पछेू गए ��न� के उ!तर द#िजए – 

ईमानदार� एक अ�छ� नी�त है, िजसका वा�त�वक अथ� है - जीवन के 

आयाम! म" स�चा होना, दसूर! को तकल�फ़ न देना, कह�ं पर भी हमार� 

अनै�तक भ+ूमका का न होना। ईमानदार -यि.त समय�न/ठ होता है। समय 

का म1ूय जानता है और समय पर 34येक काय� को करता है। एक ईमानदार 

-यि.त 5र6त! क7 �व6वसनीयता को बनाए रखता है। हम" खशुी 3दान करता 

है और हमारे मि�त/क को शांत रखता है। इसके �वपर�त एक बेईमान 

-यि.त कभी भी 5र6त! का �वकास नह�ं कर सकता। वह केवल =/टाचार क7 

?मता रखता है। उसका जीवन उलझन! से �घरा रहता है, उसे कभी भी 

राहत नह�ं +मलती परंत ु एक ईमानदार -यि.त राहतपणू� जीवन जीता है। 

ईमानदार� एक अ�छा गणु है, िजसे हम" आ4मसात करना चाEहए। यह हमारे 

जीवन म" एक सकारा4मक भू+मका �नभाती है। अFयापक!, +मG!, प5रवारजन! 

के साथ ईमानदार� का -यवहार करके आप सभी म" �व6वास कायम कर 

सकत ेहH। ईमानदार -यि.त Iकसी से नह�ं डरता, उसके अंदर ईमानदार� घर 

करती है। स4य हमेशा कड़वा होता है, लेIकन अ�छे प5रणाम देता है। 

स�चाई के माग� पर चलने वाला -यि.त ईमानदार� का साथ कभी नह�ं 

छोड़ता, चाहे इसके +लए उसे Iकतने ह� मू1य .य! ना चुकाना पड़।े 

 

क) ईमानदार� का वा�त�वक अथ� .या है? 

ख) ईमानदार -यि.त .या - .या कर पाता है? 

ग) एक बेईमान -यि.त के +लए .या असभंव होता है और .य! ? 

घ) ईमानदार� कैसा गुण है? इसक7 हमारे जीवन म" .या भू+मका है? 

ङ) कैसे -यि.त ईमानदार� का साथ नह�ं छोड़ते हH? 

च) उपयु�.त गOयांश के +लए उPचत शीष�क +लRखए। 
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2 

2 

2 

1 
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2. 

खडं – ख 

 

	न�न�ल�खत श'द� के �लए उ(चत संबधं वाले .वक/प छाँटकर �ल�खए – 

क) गोल : लक7र  ::  दो :  ? 

i) वह  

ii) भार�  

iii) आदमी  

iv) छोटे  

 

ख) घर : मकान ::  आँख : ? 

i) आंखे  

ii) नयन  

iii) ह�त  

iv) कानन   

 

ग) मखुजोर +सहं : -यि.तवाचक संWा  ::  तालाब  :  ? 

i) -यि.तवाचक संWा  

ii) जा�तवाचक सWंा  

iii) भाववाचक संWा  

iv) समहूवाचक सWंा  

 

घ) िजसको भय न हो : �नभ�य  ::  िजसे कहा न जा सके : ? 

i) कथनीय  

ii) कथाकार  

iii)  वाचक  

iv)  अकथनीय  

 

ङ) कला + कार� : कलाकार�  ::  PचG + इत  :  ? 

i) PचGइत  

ii) PचYGत  

iii) चीGीत  

iv) PचइGत  

 

 

 

 

 

 

1x5=5 
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3. 	न�न�ल�खत ��न� के उ(चत .वक/प चुनकर �ल�खए – 

क) देश उZह" ‘लौह पु]ष’ के नाम से याद करता है। 3�तुत वा.य म"   

   सव�नाम श_द छाँटकर +लRखए – 

i) देश  

ii) उZह"  

iii) लौह  

iv) याद  

 

ख) ‘सागर' श_द का उPचत पया�यवाची श_द छाँटकर +लRखए – 

i) नद�  

ii) सरोवर 

iii) स5रता 

iv) +सधुं  

 

1x2=2 

4. 	न�न�ल�खत कथन� को पढ़कर सह# .वक/प छाँटकर �ल�खए – 

 

क) अ+भकथन : ‘कह�ं – कह�ं’ युcम श_द है।  

   तक�   : जोड़ ेवाले श_द! को यcुम श_द कहते हH।  

i) अ+भकथन और तक�  दोन! सह� हH .य!Iक तक�  अ+भकथन क7 सह� 

-याdया है।  

ii) अ+भकथन और तक�  दोन! गलत हH, परंतु तक�  अ+भकथन क7 सह� 

-याdया है।   

iii) अ+भकथन सह� है, परंतु तक�  गलत है।  

iv) अ+भकथन गलत है, परंत ुतक�  सह� है।  

 

ख) अ+भकथन : ‘अँधेरा’ का समानाथe श_द ‘अंधकार’ होता है।  

   तक�   :  समानाथe श_द का 3योग �वपर�त अथ� 3कट करने के    

          +लए होता है।  

i) अ+भकथन और तक�  दोन! सह� हH .य!Iक तक�  अ+भकथन क7 सह� 

-याdया है।   

ii) अ+भकथन और तक�  दोन! गलत हH, परंतु तक�  अ+भकथन क7 सह� 

-याdया है।   

iii) अ+भकथन सह� है, परंतु तक�  गलत है।  

iv) अ+भकथन गलत है, परंत ुतक�  सह� है।  

 

 

1x3=3 



4 

 

ग) अ+भकथन: ‘शहर! म" धनी -यापार� रहते थे।’ 3�तुत वा.य म" ‘धनी’   

             �वश/ेय श_द है। 

   तक�   : िजसक7 �वशषेता बताई जाती है, �वशे/य कहलाते हH।  

i) अ+भकथन और तक�  दोन! सह� हH .य!Iक तक�  अ+भकथन क7 सह� 

-याdया है।   

ii) अ+भकथन और तक�  दोन! गलत हH, परंतु तक�  अ+भकथन क7 सह� 

-याdया है।   

iii) अ+भकथन सह� है, परंतु तक�  गलत है।  

iv) अ+भकथन गलत है, परंत ुतक�  सह� है।  
 

5. 	न�न�ल�खत वा:य� म< उ(चत श'द छाँटकर =र:त >थान  भ=रए –  

क) वह  _____________खजूर का पेड़ उखाड़ कर भाग गया।  

       ( उZह" / हमारा ) 

 

ख) ______________ ‘नीर’ का पया�यवाची श_द है। ( पानी / प�न ) 
 

1x2=2 

6. Aदए गए (चB� को पहचान कर पछेू गए ��न� के सह# उ!तर �ल�खए -  

 

क) PचG को देखकर संयु.त -यजंन वाला एक श_द +लRखए -  

 

 

 

 

 

ख) PचG के आधार पर एक -यि.तवाचक संWा श_द +लRखए –  

 

 
 

 

 

1x2=2 

 

 

 

 

 

 

 

 

 

 

 

 

 

7. >तंभ ‘अ’ म< Aदए गए श'द� को >तंभ ‘ब’ के उ(चत अथH वाले श'द� से 

�मलाकर �ल�खए – 

>तंभ ‘अ’ >तंभ ‘ब’ 

         क) तज़े 

ख) फन  

ग) सज़ा 

  i) साँप का म�तक 

  ii) दंड 

  iii) तीk ग�त   

1x3=3 
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8. 	न�न�ल�खत कथन� को पढ़कर ‘सह#’ या ‘गलत’ �ल�खए – 

 

क) ‘पछं� घर को लौट"गे।’ 3�तुत वा.य म" ‘पछं�’ कता� कारक है।  

ख) ‘होश उड़ जाना’ मुहावरे का अथ� ‘+सर चकराना’ है।  

ग)  ‘मू�त �’ श_द का बहुवचन lप ‘मू�त�याँ’ है।   

 

1x3=3 

 

 

9. 

खडं – ग 

 

	न�न�ल�खत ��न� के उ!तर (20 - 25 श'द� म<) �ल�खए – 

क) हज़ार! बीज आँख" मीचंकर .या कर रहे हH? 

ख) नद� चलते – चलते कैसे – कैसे आकार बदलती है? 

ग) पेड़ Iकस समय और कैसे खाना खाते हH? 
 

 

 

2x3=6 

10. नद� �नरंतर Yबना थमे, Yबना थके, पानी Yबखराते हुए ह5रयाल� फैलाती है 

और इस तरह लोग! पर कई उपकार करती है। नद� के इन  गुण! को 

अपनाने से हमारे -यवहार म" .या अंतर आएगा? अपने �वचार  

(40 - 50 श_द! म") +लRखए।   
 

4 

11. 	न�न�ल�खत ��न� के उ!तर (20 - 25 श'द� म<) �ल�खए – 

क) होजा ने बादशाह के 3�ताव को .य! ठुकरा Eदया? 

ख) सरदार पटेल न ेअहमदाबाद क7 सभा म" .या कहा? 

ग)  धरतीपटक +सहं अपनी शि.त बनाए रखने के +लए .या - .या   

 करता था? 

 

2x3=6 

12. 	न�न�ल�खत ��न� के उ!तर (30 - 35 श'द� म<) �ल�खए – 

क) मुखजोर +सहं और धरतीपटक +सहं के च5रG म" Iकसका च5रG   

   आपको अ�छा नह�ं लगा? कोई तीन कारण! को अपने श_द! म"  

   +लRखए।   

 

ख) अजंता के PचG अनके कलाकार! क7 +मल� - जुल� 3�तभा के उ4कृ/ट 

   नमून ेहH। ‘अजंता कN सरै’ पाठ के आधार पर +लRखए Iक ऐसा .य!    

   कहा गया है?   

                    

3x2=6 

13. Yबरसा मुडंा को आज भी एक स�च ेrां�तकार�, देशभ.त के lप म" याद 

Iकया जाता है। Yबरसा मुडंा के जीवन से 3े5रत होकर आप अपन े देश के 

+लए .या – .या कर सकते हH? अपने �वचार (50 - 60 श_द! म") +लRखए।   

 

5 
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14. 	न�न�ल�खत ग�यांश को पढ़कर पछेू गए ��न� के उ!तर द#िजए – 

“मुझ ेतुम पर �व6वास है भयैा रामू! मH उसे खोजकर ह� अब घर जाऊँगा।” 

कुvहार यह कहता हुआ अँधेरे म" गायब हो गया। इसी तरह वह कई लोग! 

के घर गया, पछूा और आगे बढ़ गया। लेIकन उसे गधे का कोई पता - 

�नशान नह�ं +मल रहा था। हैरान – परेशान वह इधर -उधर मारा - मारा Iफर 

रहा था। इधर पानी  उधर अँधेरा। उसे कुछ Eदखाई नह�ं पड़ रहा था। वह 

एक पxंडत जी के घर गया। वह जानवर खो जाने पर लोग! को Eदशा और 

�थान तक बता देते। कुvहार ने आव देखा न ताव, वह धड़धड़ाता हुआ घर 

म" घुस गया।  

 

क) उपयु�.त गOयांश Iकस पाठ से +लया गया है? 

ख) Iकसक7 तलाश म" कुvहार मारा - मारा Iफर रहा था? 

ग) कुvहार धड़धड़ाता हुआ पंxडत जी के घर म" .य! घुस गया? 

 

1x3=3 

 

15. 

खडं – घ 

Qकसी एक .वषय पर अनTुछेद (60 - 80 श'द� म<) �ल�खए –  

(क) मेर� यादगार याGा       

(ख) मेरे जीवन का लyय        

(ग) जल का मह44व  
 

 

5 

16. जीवन म" सफलता पाने के +लए समय पर पढ़ाई करना अ4यतं आव6यक है। 

इस �वषय पर अपने छोटे भाई को समझाते हुए पG +लRखए।  

     

अथवा 

 

चार Eदन! के अवकाश हेतु 3ाचाय� को 3ाथ�ना पG +लRखए।  
 

5 

17. ‘पेड़ के मह44व’ पर चचा� करते हुए दो +मG! के बीच के बातचीत को सवंाद 

lप म" (80 - 100 श_द! म") +लRखए।  

 

5 

18. ‘कलम’ का एक सुदंर एवं आकष�क �वWापन बनाइए।  

  

5 

 

****************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/HALF YEARLY EXAMINATION 

SESSION:2022-2023 

   Class: V                                                                                           Maximum Marks:80 

  Subject: Mathematics                                                              Time: 2Hours 30Minutes 

 

1. Write the successor of 56,79,999. (1) 

2. 1 million = _____lakhs. (1) 

3. The digit in the ones place of the product of 387 and 698 is _________. (1) 

4. 5 × 8 = 40 : 5 and 8 are the _______ of 40. (1) 

5. _________ is neither prime nor composite number. (1) 

6. Write the multiplicative inverse of 1. (1) 

7. Find the decimal number formed by interchanging the digit in the tenths place and 

tens place of 48.69 

(1) 

8. How many decimal places are there in the product of 0.2, 0.002 and 0.0002? (1) 

9. Find the difference between the place values of 2 and 4 in the number 12,34,576. (2) 

10. What should be added to 3,62,71,843 to get 4,98,07,916? (2) 

11. Is 15 a factor of 200? Give reason. (2) 

12. Write the expanded form of 359.847 in two different ways. (2) 

13. Arrange in column and add: 111.1, 11.11, 1.111 (2) 

14. If 3,485 × 16 = 55,760, then find the value of – 

  a) 34.85 × 1.6        b) 3.485 × 1.6    

(2) 

15. A rocket can travel 7,59,600 km in 240 hours. How many kilometres will the rocket 

travel in one hour? 

(3) 

16. Write all the prime numbers between 70 and 100. (3) 

17. Solve:   6
3

5
 ÷ 2 

1

10
 (3) 

18. The sum of two decimal numbers is 43.65. If one of them is 24.145, find the other. (3) 

19. Convert 
37

8
 into a decimal number. (3) 

20. Form the smallest and the greatest 8 digit numerals using the digits 7,5,0,2,1,9,8 and 

4 only once. Also, write the number name of their sum in International system of 

numeration. 

(4) 

21. Find the HCF of 12, 16, 20. (4) 

22.  Walking in the morning is a good exercise for everybody. One fine morning Nabin 

walked 3
3

4
 km and his friend Praveen walked 3

7

9
 km. Who walked more distance and 

by how much?  

(4) 
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23. Write the smallest decimal number using the digits 0, 8 and 7 only once. Write it’s 

number name. Also represent the number on a place value chart. 

(4) 

24. A tailor requires 2.25m of cloth to stitch a skirt. How many skirts can be stitched 

with 24.75m of cloth? 

(4) 

25. Mr. Gupta earns ` 32,520 per month. His wife earns ` 5,800 more than him. Find 

the total amount of money earned by both of them in a month. 

(5) 

26. Ribbon A is 
1

3
𝑚 long. It is 

2

3
𝑚 shorter than Ribbon B. What is the total length of 

two ribbons? 

(5) 

27. Mala had 36 toffees. She gave 
4

9
  of them to her friend. How many toffees were left 

with her?  

(5) 

28. A shopkeeper had 32.4 kg apples, 25.25 kg mangoes and 9.75 kg pears. What was 

the total weight of fruits he had? 

(5) 

29. Mr. Paul purchases 3 kg tomatoes at ₹25.50 per kg and 4.5 kg potatoes at ₹28 per 

kg. Find the total amount spent in all. 

(5) 

 

*************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/HALF YEARLY EXAMINATION 

SESSION:2022-2023 
  Class: V                                                                                               Maximum Marks: 80 

 Subject: Sanskrit                                                                         Time: 2 Hours 30 Minutes 

 

 खण्ड: – ‘क’ (पठित-अवबोधनम)्   (10)  
(1) पाठ्ाांशां पठित्वा प्रश्नानाम ्उत्तराणि ननरे्दशानुसारां लिखत -  

रमा - राजीव! अस्ममन    चित्र ेत्वं किम   पश्यसि? 
राजीवः – रमे! चित्र ेतु अनेिे खगाः िस्तत। 
उमा – किम   त्वम   एतेषां नामानन जानासि? 
उमेशः – आम  , अत्र मयूरः, बिः, िुक्िुटः ि िस्तत। 
रमा – तत्र  शुिः, िािः, उलूिः ि अपप िस्तत। 
राजीवः – किम   िटिा हंिः ि न मतः? 
उमा – आम  , चित्रे िटिा हंिः ि मतः। अत्र तु िपोतः पपिः ि अपप मतः। 
उमेशः – अधनुा वद, मयूरः किम   िरोनत? 
राजीवः - मयूरः नतृ्यनत। 
रमा – बिः िुत्र नतष्ठनत? 
उमा – बिः तु जले नतष्ठनत। 
उमेशः – अतये खगाः िुत्र नतष्ठस्तत? 
रमा – अतये खगाः तु वकृ्षमय शाखािु नतष्ठस्तत। 

 
 
 
 
 
 
 
 
 
 
 

 

 (I) एकपरे्दन उत्तरत -   
(i) चित्र ेतु अनेिे िे िस्तत? 
(ii) “तत्र शुिः, िािः, उलूिः ि अपप िस्तत” – इनत िा िथयनत?   
(iii) “किम   िटिा हंिः ि न मतः?” - इनत ि: पचृ्छनत?  
(iv) “बिः िुत्र नतष्ठनत?” – इनत िा पचृ्छनत?  

(1×4=4) 
  

 (II) पूिणवाक््ेन उत्तरत -   
(i) िः नतृ्यनत? 
(ii) बिः िुत्र नतष्ठनत? 
(iii) अतये खगाः िुत्र नतष्ठस्तत?   

(2×3=6)  

 खण्ड: – ‘ख’ (व््ाकरिम)्   (20)   
(2) क. ननरे्दशानुसारां समुचितां शब्र्दरूपां लिखत –  

1. ‘बालि’ शब्दमय प्रथमा-पवभक्ते: बहुविनमय रूपम    किम   ?  
2. ‘बालि’ शब्दमय ततृीया-पवभक्ते: एिविनमय रूपम    किम   ?  
3. ‘बालि’ शब्दमय षष्ठी-पवभक्ते: एिविनमय रूपम    किम   ?  
4. ‘बालि’ शब्दमय प्रथमा-पवभक्ते: एिविनमय रूपम    किम   ?  

(1×7=7) 
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5. ‘बालि’ शब्दमय ततृीया-पवभक्ते: बहुविनमय रूपम    किम   ?  
6. ‘बालि’ शब्दमय षष्ठी-पवभक्ते: द्पवविनमय रूपम    किम   ?  
7. ‘बालि’ शब्दमय िप्तमी-पवभक्ते: एिविनमय रूपम    किम   ? 
ख. उचित-शब्र्दरूपै: ररक्तस्थानानन पूर्न्त ु-  

ववभक्त्ः एकविनम ् ठिविनम ् बहुविनम ्
ठिती्ा (i) _____ बालिौ (ii) _____ 
ितुथी बालिाय (iii) _____ (iv) _____ 
पञ्िमी बालिात   (v) _____ (vi) _____ 

  

 
 
 

(1×6=6) 
 
 

 

(3) ‘पठ’ धातोः समुचितरूपैः ररक्तस्थानानन पूर्त – 
पुरुषाः एकविनम ् ठिविनम ् बहुविनम ्

प्रथम: पुरुषः पठनत (i) _____ पठस्तत 
मध््म: पुरुषः (ii) _____ (iii) _____ (iv) _____ 
उत्तम: पुरुषः (v) _____ (vi) _____ (vii) _____  

(1×7=7) 
 
 
 

 खण्ड: – ‘ग’ (पाठ्-सामग्री)  (50)   

(4) (I) मञ्जूषातः उचित-शब्र्दाथ ंचित्वा लिखन्तु - 
 (i) अस्मत   (ii) अत्र - तत्र     

(1×2=2) 
  

 (II) चित्रां दृष्ट्वा ररक्तस्थानां पूर्त –  
 
(i) आिाश े_____ उददतः। 

 
 

 
(ii) _____ आिाश ेउड्डयस्तत। 
 

(2×2=4) 

(5)  (I) मञ्जूषातः उचितम ्उत्तरां चित्वा ररक्तस्थानम ्पूर्त। 
एष: ि: अस्मत?  
______ पुरुषः अस्मत।             

(1×1=1) 
  

 (II) चित्रां दृष्ट्वा ररक्तस्थानानन पूर्न्तु। 
(i) एषः _____ अस्मत? 
   एषः लेखिः अस्मत। 
(ii) लेखिः किम   िरोनत? 
   ______ सलखनत। 

(2×2=4)  

मञ्जूषा -   ्हााँ – वहााँ,   है 

मञ्जूषा - एषः,    एषा 
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(6) उचित-शब्रे्दन मेिनां कुरुत। 
(i) सिहं:                 धाविः  
(ii) अश्वः                भारवाहिः  
(iii) गददभः                पराक्रमी  

(1×3=3) 

(7)  (I) फिानाां शाकानाम ्ि नामानन लिखन्तु। 
फलानाम   नामानन -  
(i) _________     (ii) _________    (iii) _________     (iv) _________           
  
शािानाम   नामानन -  
(v) _________     (vi)_________    (vii) _________         

(1×7=7) 
  

 (II) चित्रां दृष्ट्वा पूिणवाक््ेन उत्तरत। 
(i) एतत   किम   अस्मत?                           (ii) एतत   किम   अस्मत?                   
 
 
 

(2×2=4) 

(8) चित्रां दृष्ट्वा खगस्् नाम लिखत। 
(i) एषः ______ अस्मत।                          (ii) एषः _______ अस्मत। 
 
 
 

(1×2=2) 

(9) (I) चित्राणि दृष्ट्वा मञ्जूषा्ाः चित्वा लिखन्तु कः कािः? 
                                             
 
 
 
(i) ___________________               (ii) ___________________  
                                              
          

 
             

 
(iii) ___________________           (iv) ___________________  
  
 
  

(1×4=4) 
 
 
 
 
 
 
 
 
 
 
 मञ्जूषा - रात्रत्रकािः,     प्रातःकािः,     मध््ाह्नकािः,    सा्ांकाि: 
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 (II) मञ्जूषातः उचितां पर्दां चित्वा ररक्तस्थानानन पूर्त। 
(i) _______ गच्छसि। 
(ii) _______ खादथः। 
(iii) _______ धावथ। 
(iv) ______ िलसि। 
(v) ______ िूददथ:। 
(vi) ______ भ्रमथ।   

(1×6=6)  

 (III) पूिणवाक््ेन उत्तरत। 
(i) लता मध्याह्ने किम   खादनत?  
(ii) रजतः प्रातःिाले किम   खादनत?  

(2×2=4)  

(10) (I) अत्र ववलभन्नचित्राणि सन्न्त। मञ्जूषा्ाम ्नामानन अवप लिणखतानन सन्न्त। एतेभ््ः 
उचितां पर्दम ्चित्वा उत्तरपुन्स्तका्ाां नामानन लिखन्तु। 
                                       

 
 

(i) ___________________                (ii) ___________________ 
 
 
 
 
(iii) ___________________               (iv) ___________________                      

 
 

 
 
(v) ___________________  

(1×5=5) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 (II) पूिणवाक््ेन उत्तरत। 

(i) पवद्यालये िमय चित्रप्रदशदनी अस्मत? 
(ii) रमेशः रपववािरे िुत्र गच्छनत?  

(2×2=4)  

 

 

*********************** 

मञ्जूषा  
्ू्म,्  त्वम,्  ्ुवाम,्  ्ू्म,्  त्वम,्  ्ुवाम ्

मञ्जूषा 
गहृम,्         पवणतः,        कन्र्दकुम,्    
पुस्तकानन,     र्दीपकः 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
 PERIODIC TEST - II / HALF YEARLY EXAMINATION 

SESSION 2022-2023 

Class : V          Maximum Marks : 80 

Subject : SCIENCE                              Time : 2 Hr 30 minutes 

------------------------------------------------------------------------------------------------ 
Q. No.  Marks 

1. Choose the correct answer from the given options: (1×10 =10) 

a) Look at the given diagram carefully. 

Which are the organs that the above given bones 

protect? 

i) Stomach  ii) Lungs 

iii) Heart  iv) Both (ii) and (iii) 

 

b) Look at the picture given. 

Which joint Sayan is using to move his head?  

i) Pivot   ii) Hinge 

iii) Sliding  iv) Ball and socket joint 

 

c) From which part of the plant sweet potato grows? 

i) Roots ii) Stems iii) Leaves  iv) None of these 

 

d) Seeds of Dandelion are dispersed through 

i) Water ii) Wind iii) Gravity  iv) Insects 

 

e) Identify the reserved area where limited human activities are permitted. 

i) sanctuary    ii) national park     iii) zoo         iv) safe house 

 

f) Which among these animals is endangered? 

i) tasmanian tiger     ii) golden toad   iii) quagga   iv) tamarin 
 

g) What should be done before packing the fruits? 

i) We should clean them 

ii) We should wash them with water 

iii) We should dry them after washing 

iv) All of the above 

 

h) Deficiency of vitamin B causes  

i) Beriberi ii) Pellagra iii) Scurvy iv) Kwashiorkor 

 

i) The food gets spoiled by attack of  

i) Bacteria ii) Mold iii) Yeast iv) All of these 

 

j) Ricket is caused due to deficiency of  

i) Vitamin A ii) Vitamin B iii) Vitamin C iv) Vitamin D 

 

2. Fill in the blanks with suitable words: (1×10=10) 

a) A ____ is a group of organs that work together for a particular function.  

b) The hole named _______ allows water to enter inside the seed.  

c) ________________ leaf is called ‘green gold’ of Odisha.  

d) The_______ of North and South American bears are smuggled to make 

medicines from them. 

 

e) In vacuum packing method, the created vacuum reduces ______ in the 

package to limit the growth of micro-organism.  

 

f) ________must be done to prevent disease like polio.  



Page 2 of 3 
 

g) Food items like milk, fruits and vegetables either must be consumed in a 

short period of time or should be stored in refrigerator as they are _____ 

in nature. 

 

h) The forest conservation act was enacted by the Indian parliament in the 

year ______. 

 

i) Seeds of pea, ladyfinger are dispersed through ____________.  

j) High pitched ‘sounds’, known as _____________ help the bats to detect 

their prey at night. 

 

3. Rewrite the following sentences correctly: (1×5=5) 

a) Hydrilla and lotus disperse their seeds by wind.  

b) Forests develop at places where the average temperature is greater than 

20°C. 

 

c) An ingredient of making perfumes, known as ‘Kasturi’ is obtained from 

mountain goat. 

 

d) Plague is a disease that is spread by non-living agent like water.  

e) Fish is preserved at high temperature.  

4. Match the Column: 

             Column  A                           Column  B    

         I. Baby Plant                 a. Forests 

         II. Skin                                b. soft and weak bones 

         III. Ricket                              c. pasteurisation 

         IV. Resins                             d. Seedling 

         V. Milk                                   e. Sensory structure 

(1×5=5) 

5. Define:- a) Ligament       b) Sanctuary  c) Enzymes (2×3=6) 

6 Write the difference between: (2×2=4) 

 a) Micropyle and Cotyledons 

b) Communicable disease and non-communicable disease. (Any 2 points) 

 

7. Answer the following questions in brief: (2×5=10) 

a)  Why is our backbone made up of many small vertebrae instead of having 

one straight long bone 

 

b)  ‘X’ is a forest product which is extracted from the house of an insect ‘Y’. 

‘X’ is a natural preservative and has medicinal properties. Another 

product ‘Z’ is also obtained from ‘Y’ is used in cosmetics. 

i) Name the insect ‘Y’. 

ii) Identify ‘X’ and ‘Z’. 

iii) Write one more use of Z.  

 

c)  i) What do you mean by the term wild life trade?  

ii) What initiative did Government of India take to effectively control this 

illegal trade in wild life?  
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d)  Look carefully at the pictures given below and answer the following 

questions: 

 

 

 

 

 

 

i) How is child B different from child A? 

ii) What is the medical term used for the condition of child B? 

iii) Write any two preventive measures to be taken for the recovery of 

child B. 

 

e)  You saw your grandmother to add salt and sugar in the mango pickle 

which she was making. She explained salt and sugar enhances the taste of 

the pickle. According to you, what should be the scientific reason behind 

adding salt and sugar in the pickle? 

 

8. Answer the following questions: (4×5=20) 

a) i) Give reason for the following statements:  

 A) The last two pairs of ribs are known as floating ribs.  

 B) Bones are living entities.  

ii) The hollow space of long bones is filled with cells and soft materials. 

What is it termed as? State its function. 

iii) Mention the function of pupil.  

 

b) Observe the given diagram of the plant having a 

special shape and then answer the related 

questions given below:  

i) Name this plant. 

ii) What special characteristic does this plant 

possess? 

iii) What are these types of plants known as? 

iv) Give one more example of the same type of plant. 

 

c) i) Human beings cut forests for various reasons. This leads to a drastic 

change in the environment. List three harmful effects that justify the given 

statements. 

ii) There was huge rainfall which resulted in a heavy flood in Diyan’s 

village. Everything was washed away but the area near and around his 

mango orchard was saved. Explain the reason behind this observation.  

 

d) Suggest any four steps to prevent cruelty to animals with the help of a 

webchart. 

 

e) Explain Food preservation with four useful methods.  

9. Draw and label the following: 

i) Draw a terrestrial food chain with proper labelling. 

ii) Draw any two sources of minerals and name them. 

(5×2=10) 

 

**************************** 

A B 
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D.A.V.  INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST 2/ HALF YEARLY EXAMINATION 

SESSION: 2022-2023 

Class: V                                                                                               Maximum Marks: 80 

Subject: Social Science                          Time: 2Hours 30Minutes 

 
1. Fill in the blanks:                                (1×5=5) 

a. The care and appreciation for one another are the real ________. 

b. Houses in earthquake prone areas in __________ are built with bamboo and wood. 

c. Many people sleep on the flat roofs_________. 

d. Sisandras were built in ______. 

e. The use of ________ in agriculture brought a great change in occupation. 

2. Rewrite the incorrect statement correctly.                             (1×5=5) 

a. Neighbourhood is the greatest gift of nature. 

b. Humans do not follow a map or GPS. 

c. Helen Keller is a Child Right Activist. 

d. Step wells are called Water Storage of India. 

e. Sanya Nehwal is a famous football player of India. 

3. Choose the correct option.                                        (1×5=5) 

a. Bamboo and wooden houses are found in-                                                             

   i) plains                       ii) mountains                iii) desert                     iv) earthquake prone areas 

b. Water pollution is mainly caused by-                                                                    

    i) industrial waste       ii) household waste      iii) both i and ii             iv) none of these 

c. ________ teaches various Asanas to build energy and keep our body fit.            

    i) Pranayam                ii) Yoga                        iii) Martial Art               iv) Reading 

d. ________ is a famous martial art of Manipur which uses graceful movement, swords and spears.                                                                                                                     

i) Thang Ta             ii) Kalarippayattu          iii) Malkhamb               iv) Kushti 

e. __________ was the father of White Revolution.                                              

     i) APJ Abdul Kalam   ii) Mother Teresa          iii) Dr. Verghese Kurien       iv) Helen Keller        

                                

4. What are the real strengths of a family?                     (2) 

5. Name two famous nomadic groups of India, also write the places they belong to.                (2) 

6. List two advantages of high rise apartment.                     (2) 

7. Identify this house. List the material used to make such houses.                                             (2)  

 

 

 

 

 

 

 

 

8. List any two qualities of the teachers which help to improve the condition of physically  

challenged children.                                           (2) 

9. When and how is Van Mahotsava celebrated every year?                (2) 

10. Explain the importance of Chaupal in the life of villagers.                (2) 
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11. ‘Books are our best friends’. List any two benefits of reading books.                         (2) 

12. Mention two qualities of a sports person. Identify this famous sports personality.               (2) 

 

 

 

 

 

 

13. Give one reason for low production of milk.                          (2)                                                     

   

14. Give three reasons for regional variation in houses.                  (3) 

15. Write any three steps that should be taken to improve the condition of socially deprived     (3) 

children.         

16. Who is the founder of ‘Bachpan Bachao Andolan’? Write two sentences about him/ her.  (3) 

17. In recent times forests have been cleared for agriculture, building houses, hotels etc.           (3) 

Write any three bad effects of clearing forests.       

18. Define the term Dignity of Labour. Give an example.                            (3) 

    

19. What are the two types of disasters? List three facilities which are needed by people          (5) 

 in case of a disaster.         

20. Describe the advantage of a Neighbourhood Watch Plan. List three responsibilities of        (5) 

a good neighbour.                    

21. Name two projects that have been started by our government to protect forests.                  (5) 

Mention three benefits of planting trees.      

22. What do you mean by Green Revolution? List three ways in which technology has             (5) 

changed our lives.              

23. Make a diagram on water harvesting plant in modern building.               (5) 

 

24. On a political map of India, locate and label the following places                (1×5=5) 

a. A state which witnessed cyclone Amphan in 2020. 

b. One group of islands of Indian Union. 

c. A state where Garden City of India is located. 

d. A state which receives the highest rainfall. 

e. A state famous for Snake Boat Races. 

 

 

 

 

 

 

************************* 


